MY NP 7 D99

MNIN NIYON NN 1IN I PN NSV P8pNs f(2) nn .1

wap f N f(z) = f(iz) o7pnn z 955 OR (R)
wap f N f(z) = f(3z) orpmm z 95Y oN (2)

MW M > 0 My |f(z)] < M|z|" »5 norpnn nndw spna f(z) nn .2
NN 539 nnbynn owha o f(z) 2 Iomn
22avH VaYN SV NN2INN DY 1NN NI

ap f(z) oo | f(z) — f(22)] < 10 no»pon ndv wspna f(z) 'nn .3

DNIN ONVN DY MDIdNNN DIND NX INYND .4

—  (z+0)"
> m+)mrz)

o0
Jzl = 113102 mmipy Mmay Mnad TN PR Z

n=1

TN NPNPNN DY NOPV MO NN INYD .5

z=10 210 22sinz (N)
z= g 2130 22sinz (Q)

. z
z =0 2130 19 (3



